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CAUHOI

Bài 1. (1,5 điểm)  Rút gọn các biểu thức
      a)   A = 
[image: image1.wmf]11

2323

+

-+

             b) B  = 
[image: image2.wmf]5

7

1

:

1

3

5

15

1

2

7

14

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

-

-


     c) C = 
[image: image3.wmf]15

4

15

4

-

-

+


DAPAN

 a) A = 
[image: image4.wmf]11

2323

+

-+

 = 
[image: image5.wmf]2323

4343

+-

+

--


0.25

= 2 + 
[image: image6.wmf]3

 + 2 - 
[image: image7.wmf]3

 = 4

0.25

b) B = 
[image: image8.wmf]5

7

1

:

1

3

5

15

1

2

7

14

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

-

-

=
[image: image9.wmf]22

(75)(75)(7)(5)2

+-=-=


0.25 x 2
c) C = 
[image: image10.wmf]15

4

15

4

-

-

+


Ta có: B  = 
[image: image11.wmf]15

4

15

4

-

-

+

 > 0

           B2 = (
[image: image12.wmf]15

4

15

4

-

-

+

)2
              =  
[image: image13.wmf])

15

4

(

)

15

4

(

.

2

15

4

-

+

-

+

+
[image: image14.wmf]15

4

-


             = 
[image: image15.wmf]15

16

2

8

-

-

=6

0,25đ

0,25




_1549887857.unknown

_1549887867.unknown

_1549887869.unknown

_1549887871.unknown

_1549887873.unknown

_1549887874.unknown

_1549887872.unknown

_1549887870.unknown

_1549887868.unknown

_1549887865.unknown

_1549887866.unknown

_1549887858.unknown

_1463161734.unknown

_1523383639.unknown

